A ' =
2022 (£4) £EHBHABPHEY-/BER
L 2022/6/12
EREYD
=)
w|AE | a8 |[Ko| <k-ba>| @R | <PoIM> B E Y 4“1;?* W
EREH "
4EU F C|10:00| BEI5T 0 7 5 A5 Spea |4#BUFC|4BUFC
1 |4R178| #+3BRUK |12:00 4B U F C 0 ~# 5 Spea *AN5 | BRI3T | BRI3T
ZFHBFSC [10:00] Spea 2 -0 TU-HR £ |48UF C| FHEBSC | EHEBSC
2 |[5H1H| |IBEEH [12:00] HEHEBSC 2 -1 FEUFC RVS WaI37 | BkI5T
J)—-HR | 1400 BERIST 0 -3 RVS Spea JU-I2R JV-IR
ZA-)¢5 [10:000 RV S 5 75 0 FEBUFC JU-92X FANT | R2ANS
3 |5HA8H| #EBRuK |12:00[ AT 3 -3 -9 4#BUFC| RVS RVS
RVS [10:00 Spea 5 # % 0 A5 EHHEBSC RVS RVS
4 |5A298| 4+sBRUK |12:000 RV S 1-0 HFHESC AN Spea Spea
JU=9Z [10:00[ FA-)N5 1 -8 HHEBSC HEBUFC| JU-9Z PUEIY
5 |6H58| 4Rk |12:00( JU—HZ 2 -1 H$BUFC HBESC | FANT | RANF
x4 {5 |10:00f S EFSC RVS A NS S N/
7? 3 peao_ 9/ 4ICHERS EHER A5 ANS
6 (68128 HAEBHUK |12:000 RA-NS RVS HFHEPSC Spea Spea
Spea |10:00| ZFHEBSC - JU-92 BiEI57 Spea Spea
7 [6A26H KB 12:00  Spea - BEI57 JU-9Z | EHEBSC | HEAEFSC
BA&a9357 |10:00| FEUF C - AN V=92 | BkI3T | BikI5T
8 [7R10B| HEBRsUK |12:00| BE&EIST - JU-D2R A0S FBUFC|4BUFC
4#BUF C|w00 RVS - Spea BiRI57) | HFEBUFC|4BUFC
9 |7A17H| |HBRH |12:00|4+BU F C - BEI57 Spea RVS RVS
=92 |10:00] FHHESC - WaI57 RVS V=92 -9
10|7R248| [HAEREHS |12:00[ JU-HZ - RVS B&=I57 | HHESC | HEREFSC
AN [10:00] Spea - HHEBSC RVS FANT | 2ANS
6 (9H48| IHSIREAH |12:00 RA-N5 - RVS HFHESC Spea Spea
% 10:00 -
fig | 98258 | S4Bk | 12:00 -
E 14:00 —
% 10:00 —
g | 108168 | HL2BHRAK |12:00 =
E 14:00 —
zx J=4Jefir |10:00 U= 34 - -4 af1 J-4J5f1 | U-J6fr | U-J6fI
IR 108308 HREBRRUK |12:00] U—4 54T - -4 6fL V=PI | V=024 | V-J241
B =421 |14:00] U—=J 14 - —4241 =934 | V-JafL | V-J4afI




20225 E (SFAEE)EHHHTRI—IT KK x5 =
SHMAE4R178H5 ;#Z‘:H 2 ?:
87 | e | o
XIBECAE . OBE > QBAAE > OBA
=
g N\ e .8
F—L% Spea RVS $8UFC | 7U—HR | 435 | EBESSC | BikI7T Hg Z % Hﬁ = .95& § ﬂ_LJEZ
=
Spea o o o 3 0 0 9 | 12| o 12 1
| 5 o2 ]0o]5 o | |
0 0 o)
RVS | 5« | | T Tolsle 3 o o o 9 | o0 9 2
° ° ° ° B
*BUFC | IERERIE T | i | ol o| a] o] 2| 14 12 7
JY—H2 ® o A i1 1 a5 ]| 6| -1| 4
o | 2 | 2 | 1 3 | 3 | |
R85 L A L O 1 1l 2 4| 9| 6] -7 5
o | s | | 3 | 3 1 8| 5] o
HRESC L O O 2|l o 1| 6| 10] 3 71 3
| o [ 1| 2] 1 | 8 | 1 |
BRYST L L 0 0 2 0 0 8 -8 4)
| 0o | 3 | | 0o | 5




